
Keeper 29 

Honors Calculus



Find the area under the graph of y = x2 +1 
over the interval [–1,2].



If F(x) is the antiderivative of the continuous 
function f(x) over the interval [a, b], then the 
definite integral of  f from a to b is  

f (x) dx
a

b

  F(b) F(a).



1. Find any antiderivative, F(x), of  f (x). 

2. Evaluate F(x) using b and a, and compute 

F(b) – F(a).  The result is the area under the 

graph over the interval [a, b].
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*This problem is read “the integral of x2 + 1, with 

respect to x, from -1 to 2”.
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Talk about if the smaller number 
is on top


